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QUESTION 1 
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a
 correct sub into dist. formula 

 ✓ ca     answer                                   (2) 
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✓
a correct sub into grad. formula                   
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ca      answer                                    (2)                  

1.3 

2

)9(17

)( 11

+−=

−−=+

−=−

xy

xy

xxmyy

 

cmxyorxxmyy +=−=− )( 11
  ✓a     

  
 

✓ 
ca   

correct sub into  equation formula 

✓ 
ca    answer                                      (3) 

1.4 

)1;3(

)
2

75
;

2

93
(

)
2

;
2

( 2121

−

−+−

++

BD

BD

M

M

yyxx
M

 

 

✓
a     

 midpoint formula 
 

 

✓ 
a   
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✓ ca      equating x-co-ordinates and y- 

                co-ordinates                          

✓  ca   ✓  ca    answers  
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QUESTION 2 

 

2.1 

00,2080

120
60

117600

117600

)5
100

22
1(56000

)1(

5600070000
100

80

R

sinstalmentMonthly

R

inPA

R

=

+=

=

+=

+=

=

 

 

R56000     ✓a   loan amount 

 

 

 

 

R117600   ✓ca   final amount 

 

60✓a    no. of payments 

R2080,00 ✓ ca   answer                    (4) 
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✓ a correct sub. into simple interest formula   
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✓ a correct sub. into  compound interest                    

        formula   
 

 ✓ ca   simplification 

  

 

%33,5=r  ✓ ca    answer                 (3) 

2.4.1 20,138310,9152$ RR =
 

 20,1383R  ✓ a                                 (1) 

2.4.2 
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£311,11  ✓ a     answer                      (1)                              
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✓ a    

07,309R   ✓ ca    answer                    (2) 
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QUESTION 3 

 

3.1 In ∆ABD  

AS  =  DS        (given) 

AP  =  BP        (given) 

 PS || BD      (midpt th) 

 

In ∆BCD 

CR  =  DR        (given) 

CQ  =  BQ        (given) 

QR || BD        (midpt th) 

PS || QR 

 

✓ a  both statements    

 

 ✓ a  S & R    

 

✓ a  both statements    

 

✓ a    S & R                                        (4) 
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3.2.2 In ∆AED and ∆CFB 
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 ✓ a    S & R      

✓ a      
S & R    

 ✓ a    S & R    

✓ a     S & R                                      (4) 

3.2.3 DE || BF         (given) 

DE  =  BF      (corres. sides ≡ ∆s) 

 DEBF is a parm  (one pair opp sides both = &|| ) 

✓ a   statement   

 ✓ a  S & R    

✓ a   reason                                        (3)  

                                                       [14] 

 

QUESTION 4 

 

 

 
Surface area of hemisphere = 

2

4 2r
 

                  =  
2

)12(4 2
 

                                            =  904,78 cm 

    

 Slant height (s) of Cone  =
22 )12()24( +  

            = 26,83 cm 

     

 Surface Area of Cone    =  rs   

                                           = 83,2612       

                                           =1011,47 

 

Total Surface Area  =  904,78 + 1011,47 

                                 =  1916,25cm    

  

  

2

)12(4 2
✓ a     sub. into correct formula                                     

 904,78 cm    ✓ ca     answer 

 

24  ✓ a   pythagorus 

 

 

 

83,2612  ✓ ca     sub. into correct              

                                        formula                                     

1011,47 ✓ ca      answer 

 

1916,25cm   ✓ ca     answer               [6] 
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QUESTION 5 

 

5.1.1 60  x < 80  ✓ a     answer 

                      (1) 

5.1.2 50  x < 60 ✓ a     answer 

                      (1)                                  

5.1.3 
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y-axis ✓ 
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                      (3)                    

 

5.2.1 

 

Range = 80-50 

           = 30 
30 ✓ ca   answer                               

                          (1) 

5.2.2.1 
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69 ✓ ca    answer 
                           (1) 
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61✓ ca    answer    

 

 

75,5✓ ca answer    

                      (2) 

5.1.3 

 

 

Min.Value:  50 

Q1:                      61 

Median:      69 

Q3:                     75.5 

Max.Value: 80 

 
80     max✓ ca                                             

50   min✓ ca      

                      (2) 
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5.1.5 
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QUESTION 6 

 

 6.1 
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2,139
)12tan( =  

)12tan(
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
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        = 654.88 m 

139.2  ✓ a                                         
 

using tan   ✓ a   
 

dist

2,139
)12tan( = ✓ ca   substitution 

 

 654.88 m  ✓ ca      answer   

                                         (4) 

 

6.2 
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2,139
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 679.88  ✓ ca      

 

using tan   ✓ a   

 

88,679

2,139
tan =  ✓ ca   substitution 

58,11    ✓ ca      answer 

                                         (4) 

                                         [8] 


